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Worksheet 5-3: Solving Equations with Brackets 
 

Step 1: Expand the brackets by multiplying  
Step 2: Move the number over by adding or subtracting 
Step 3: Isolate the variable by dividing or multiplying 
 

Steps English 
1. 18)5(2 =+x  

 18102 =+x  

101810102 −=−+x  

82 =x  

             
2
82

=
x
x  

4=x  

 
Step 1: Expand the brackets by multiplying 2 into the brackets. 

Step 2: Isolate 2x by subtracting 10 from both sides. 

 

Step 3: Isolate x by dividing both sides with 2. 

2. 18)4(3 =−x  

       18123 =−x  

121812123 +=+−x  

303 =x  

             
3

30
3

3
=

x  

10=x  

 
Step 1: Expand the brackets by multiplying 3 into the brackets. 

Step 2: Isolate 3x by adding 12 to both sides. 

 

Step 3: Isolate x by dividing both sides with 3. 

3. 20)32(4 −=−− y  

 20128 −=+− y  

122012128 −−=−+− y  

328 −=− y  

             
8

32
8

8
−
−

=
−
− y  

   4=y  

 
Step 1: Expand the brackets by multiplying −4 into the brackets. 

Step 2: Isolate −8y by subtracting 12 from both sides. 

 

Step 3: Isolate x by dividing both sides with −8. 
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Steps English 

4. 42)3(6 =+x  
 
 
 

Step 1: ____________________________________ 

            ____________________________________ 

Step 2: ____________________________________ 

            ____________________________________ 

Step 3: ____________________________________ 

            ____________________________________ 

 

5. 15)4(5 =−y  
 
 
 

Step 1: ____________________________________ 

            ____________________________________ 

Step 2: ____________________________________ 

            ____________________________________ 

Step 3: ____________________________________ 

            ____________________________________ 

 

6. 6)11(3 =+− m  
 
 
 

Step 1: ____________________________________ 

            ____________________________________ 

Step 2: ____________________________________ 

            ____________________________________ 

Step 3: ____________________________________ 

            ____________________________________ 

 

 

WS 5-3 

Answers: 4. 4=x ; 5. 7=y ; 6. 13−=m  
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Steps English 

7. 10)9(2 =+− n  
 
 
 

Step 1: ____________________________________ 

            ____________________________________ 

Step 2: ____________________________________ 

            ____________________________________ 

Step 3: ____________________________________ 

            ____________________________________ 

 

8. 10)97(2 −=+n  
 
 
 

Step 1: ____________________________________ 

            ____________________________________ 

Step 2: ____________________________________ 

            ____________________________________ 

Step 3: ____________________________________ 

            ____________________________________ 

 

9. 15)32(5 =−y  
 
 
 

Step 1: ____________________________________ 

            ____________________________________ 

Step 2: ____________________________________ 

            ____________________________________ 

Step 3: ____________________________________ 

            ____________________________________ 
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Answers: 7. 14−=n ; 8. 2−=n ; 9. 3=y  
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 Solve each equation. 
 

1. 12)2(3 =+x  
 
 
 
 
 
 
 
 

2. 2)7(2 =+u  
 
 
 
 
 

3. 30)8(5 =−a  4. )5(816 −= z  
 
 
 
 
 
 
 
 
 

5. 48)2(3 =−− m  6. )3(735 +−= a  
 
 
 
 
 
 
 
 
 

7. )8(46 += yy  
 

8. 119)3(2 −=++m  
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Answers: 1. 2=x ; 2. 6−=u ; 3. 14=a ; 4. 7=z ; 5. 14−=m ; 6. 8−=a ; 7. 16=y ; 8. 13−=m  


